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Varied Fluency
Estimate Answers

Developing
1a. True

2a. 900 = 920-20
3a. A
4a. C

Expected
5a. False, the rounded sum equals 1,830

6a. 1,000 when rounded to the nearest
1,000; 1,200 when rounded to the nearest
100; 1,180 when rounded to the nearest 10
7a.C

8a.C

Greater Depth
9a. True

10a. 5,000 when rounded to the nearest
1,000; 4,200 when rounded to the nearest
10 or 100

11a. To the nearest 10

12a. B

Varied Fluency
Estimate Answers

Developing
1b. False, the rounded sum equals 720

2b. 410 = 640 - 230
3b.C
4b. B

Expected
5b. True

6b. 3,000 when rounded to the nearest
1,000; 2,800 when rounded to the nearest
100; 2,780 when rounded to the nearest 10
7b. B

8b. B

Greater Depth
9b. True

10b. 4,000 when rounded to the nearest
1,000; 4,500 when rounded to the nearest
100; 4,550 when rounded to the nearest 10
11b. To the nearest 100

12b. B
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